CHE 112 
Radioactive Decay Equation– always follows first order kinetics
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	Differential first order equation where N is number of  radioactive nuclei



	This says the decay rate is proportional to the number of radioactive nuclei at this time. Then, using the symbol α to mean ‘is proportional to’,

N  α decay rate now
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N0  α decay rate originally

So,
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	Then looking at
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	Integrated first order equation

	We can say
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This is useful because it is easier to experimentally measure decay rate rather than the number of radioactive nuclei.
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